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S2A: D&EH
M HMHINSA(DAD)
Crol: FOIMHEOTD
M- BB S9(3H) - NSAY - BAS O 4t o8 il
02222 % MA 12,100
0 MENM=ESE dIIe=2 400,000& * 12& 4,800
0 HHECI=2) &3 400,000& * 12€ 4,800
0 A& &Hdls Xt 6,000
0 Xhgko ehy| 5,000
0 THEH S AIAE 2HH| 3,000
03 &AL EH| 2,000 2,000
0 ASHA XIS 2,000
202 04 d| 25,800 25,800
01 2L Y| 600 600
0 JIE2H S5 MR0AUYI 50,000& * 12& 600
02 MY 25,200 25,200
0 &AAIEE I 150,000& * 14 = 128 25,200
Nagzaed 132,811 130,345
101 2124 d| 54,230 51,764
04 JIZtHI2E2XNSE 54,230 51,764
0 EX3A(2ESE 5) el oAy 54,230
o JlEza 73,2803 * 29 x 247 36,201
o FXg 73,280 x 2¥H x 52 7,622
o EXx% 73,2803 * 2% x 11 1,613
o FUZ2FLE
v 73,2803 * 1.5 x 2% x 40 8,794
201 LEr2 Y| 78,581 78,581
01 AtSR 22l ] 15,000 15,000
0 2et24dd| 15,000
o EXgA(2EE)A2E 2 15,000
02 35244l 63,581 63,581
03322 % MA 63,581
o SXAERX 2L 9,581
o B3 (==Y 5) &
3,500,000 = 12& 42,000
o JlEt HANsU= S 12,000
) A ZH| 114,920 114,920
= A 100,720 100,720
72 =03 ALY 100,720 100,720
401 Al HIL 20| 100,720 100,720
01 A& Hl 100,000 100,000
0 A2 FUSJAAY 40,000
0 XIAD0IS ot X4 ALY 20,000
0 MT0r2 ot HHIS A 20,000




2N DXH
M DMEE AHY
Sl FUSHAY (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
0 ndA FHISAM 20,000
03 Al S HHI 720 720 0
0 FU=JAAMY AER0H 720
SH HYAF ALY 14,200 14,200 0
SSE2X ZHAY 2,000 2,000 0
401 AIEHI L 2] 2,000 2,000 0
01 A& tl 2,000 2,000 0
0 B=sZXNEHISA 2,000
AMAZE 20| I= ots =4 7,500 7,500 0
101 @144 dl 6,000 6,000 0
04 JIZHHZ2XREES 6,000 6,000 0
0 AHAIE Z0l Il= dts =& Al 6,000
206 = Hl 1,500 1,500 0
01 M2 4l 1,500 1,500 0
0 AHHE £0| Ile ots =24 M+ 1,500
SSHEY FA2c 1,700 1,700 0
201 £B-2dH| 1,700 1,700 0
01 At 22l 1,700 1,700 0
0 3=s&EA RAA2 22572 1,700
E2RA 2elAY 3,000 3,000 0
401 A& HIZ 201 Y] 3,000 3,000 0
01 A& HI 3,000 3,000 0
0 E2RXZelAS 3,000
HY2IZH (DEH) 32,240 28,880 3,360
Jl2dd(ndEH) 32,240 28,880 3,360
Jl2dH(1&EH) 32,240 28,880 3,360
201 £B-2%| 22,080 18,720 3,360
01 At 22/l 22,080 18,720 3,360
0 Lt HI(SS) 700,000& * 14 9,800
OMESAERE 15,0008 * 65 = 12& 1,080
0 SH(BE) 8,000& = 1498 » 100 11,200
203 R =&t 10,160 10, 160 0
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